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(1) ged(1204, 817).
(2) ged(2747,804).

ROREFERIIRED D 200 £ 5 DHER X,

A

(1) 1204z + 817y = 83.
(2) 2747z + 804y = 603.

A
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RD a, bR L, d=ged(a,b), a=dd, b=db &35 d v, d%zKDd X,

(1) a = 1204, b = 817.

(2) a = 2747, b = 804.
RDOAEH RO E DR k.

(1) 28z + 19y = 1.

(2) 2747z + 804y = 67.
ROARFESBROME >R k.

(1) 28z + 19y = 3.

(2) 2747x + 804y = 268.
(6] RoOFEHHADME, 2TRD X,

(1) 28z + 19y = 0.

(2) 2747z + 804y = 0.
ROFEHERDOME, 2TRD X,

(1) 282 + 19y = 3.

(2) 2747z + 804y = 268.
RORNETRADZ, &TRD X,

(1) 11z +9y = 4.
(2) 1909z + 1162y = 498.
(3) 13332z + 6767y = 11817.
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